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Spring ‘06 /MAT 145/Worksheet 5  Name: Show all your wark.
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1. (6pts) Suppose that v <a < 71 and —% < 3 < 0 are angles so that cosa = =% and
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cosfl = 5 Find the exact value of sin{« + 3).
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2. (4pts) Find the exact value of tan22.5° (do not use the caleulator).
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3. (3pts) Find the exact value of the expression (do not use the caleulator):
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Show the following identities.
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6. (8pts) Find the exact value (do not use the calculator) of cas—’g in two ways. (Your
answers may differ how they look, but they should be the same number, which you may

check using the calculator.)
a) Use the addition formula.
b) Use a half-angle formula.
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